Mr. Rivera

Short Answer

10.

11.

12.
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15.

Solve the equation.

l:r"—i+l:r"—l+r"

4 g 2" 2

“Sy=9= -1

|[3x+ 5] =1

x4+ 10 =T = =5
4

4(3—x}3 -5 =59

Solve for x. State any restrictions on the variables.

ax+bxr+ 9 =7

albx+ 2) = ex— 12

Solve the compound inequality. Graph the solution set.

5x+10>10and 7x-7<14
—2=%dx -4 <4
For flz) =5x+ 1, find -4,

Suppose flx} = 4x— 2 and g(x) = —2x + 1.
A5)

gl-3

Find the value of

Find the slope of the line through the pair of points.
(6, 12) and (-6, -2)
Find the slope of the line.
1
=-—x-4
¥ P
Find an equation for the line:

through (2, 6) and perpendicularto y = —Zx + 1.

through (-4, 6) and parallel toy = —3x + 4.
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What is the vertex of the graph of the function y = |- 3x + 2| — 4?

Write an equation for the vertical translation.
2 :
¥ = 5 x; 4 units down

Write the equation that is the translation of y = |x| left 1 unitand up 2 units.

Solve the system by the method of substitution.
Sx—y=2735
{Sx —-dy =15
Identify the vertex and the y-intercept of the graph of the function y = =3(x + 2%+ 5.
Factor the expression.
X+ 14x + 48
-6+ 8
x* - 2x — 63
Simplify m using the imaginary number i.
Write the number in the form a + bi.

4+ 10

Simplify the expression.

(=1 + ) + (=4 + 20)

Use the Quadratic Formula to solve the equation.

Sxf 4 9x-2=10

Write a polynomial function in standard form with zeros at 5, —4, and 1.
Multiply and simplify if possible.

6 a2
(5 =747

Simplify the expression.
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8
Jo-a1
—Af5 - 336 4 645
Let flx) = =3x— 6 and gix) = 5x + 2. Find f(x) + g(x).
Let fix) = 3x+ 2 and g(x) = 7x + 4. Find /- g and its domain.

Evaluate the logarithm.

Jng. —
"85 %35

log 0.01

4
Write an equation for the translation of ¥ = — that has the asymptotes x =7 and y = 6.
X

Simplify the complex fraction.

32
4y
1 3
=
¥ ooy

Solve the equation. Check the solution.

-2 4

r+ 4 4+ 3

Write the measure in radians. Express the answer in terms of 7.

45°

Suppose tan& = % Find cot&.

Rationalize the denominator of the expression. Assume that all variables are positive.

ﬁxﬂ}r?
5:}:2}?4
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R
s

= E)o+ )
(7 + 10)[( 7 - 10

3
Write the exponential expression 3x# in radical form.

. . . 8 . .
Write the radical expression —— in exponential form.
te the radical expressio j'w'{x? exponential fo

Let flx) = 22 + 2x— 1 and gix) = 2x — 4. Find 2f(x) — 3g(x).
Let flx) = —2x — 7 and g{x) = —4x + 3. Find {# = gi(-5).

Let fix) = 22 + 6 and g(x) = ﬂ. Find [g °fj[—7]l.

X

In AXYZ, 2Y is aright angle and sin = % Find sin Z in fraction and in decimal form. Round to the nearest

hundredth, if necessary.

z




Find the value of x. Round your answer to the nearest tenth.

57.

X

Not drawn to scale

58. Find |- 5 - 4i|.
59. Write the standard form of the equation of the circle with radius r and center (h, k).
r=3; (h,k)=(6,-6)
Graph the absolute value equation.

60. ¥y = |x+4|



